
Classwell C18

Installation Manual

www.pulcher-design.com

No. Description Qty

1 M3 screw 1

2 Thermostatic button 1

3 Spring 1

4 Thermostatic handle 1

5 M5 screw 1

6 O-ring 2

7 Cover 1

8 Thermostatic sleeve 1

9 Friction ring 2

10 O-ring 1

11 Concealed ring 1

12 Rubber ring 1

13 Thermostatic cartridge 1

14 Thermostatic cover 1

15 Regulating stem 2

16 O-ring 2

17 Plug cap 2

18 Check valve 2

19 Thermostatic body 1

20 Diverter lever 1

21 M5 screw 1

22 Diverter handle 1

23 M4 screw 1

24 Rubber ring 1

25 Cartridge gear sleeve 1

26 Diverter cap 1

27 Diverter cartrige 1



cold water
outlet

handshower

outlet
bathspout/headshower

hot water

www.pulcher-design.com



www.pulcher-design.com

1

2

3
4

7

5

6


